
4. Subtract in compound units.

(a) 5 yd 1 ft - 3 yd 2 ft

5. 

(b) 

(c) 

(d) 

(e) 

(f) 

5 yd 1 ft 
-3yd ► 2 yd 1 ft ---2_ft-► 1 yd 2 ft

2 yd 1 ft - 1 yd 1 ft = 

6 yd 1 ft - 4 yd 2 ft = 

2 ft 2 in. - 1 ft 10 in. = 

10 ft 4 in. - 5 ft 8 in.= 

5 ft 8 in. - 4 ft 10 in.= 

yd ___ ft 

yd 

ft 

ft 

ft 

___ In. 

___ in. 

___ in. 

Circle the the correct answer. 

(a) 5820 ft is longer than/equal to/shorter than 1 mi.

(b) 2 mi is longer than/equal to/shorter than 10,000 ft.

6. Fill in the blanks.
(a) The distance between City A and City C is ___ m1.

(b) City Bis ___ mi nearer to City A than to City C.

A 

I 
C 
(I 

5950 mi

C 

30 








